This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 18 - Motherwell North

5,202

4

1,041

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Oyebola AJALA	Scottish Conservative and Unionist	574
Gerry BRENNAN	Scottish National Party (SNP)	1,646
Andrew DUFFY-LAWSON	Scottish Labour Party	1,427
Shahid FAROOQ	Alba Party for Scottish independence	262
Ayeshah KHAN	Scottish Labour Party	513
Anne THOMAS	Scottish National Party (SNP)	780
	Total	5,202

Candidate Gerry BRENNAN Elected with 1,646 votes, being in excess of the quota of 1,041 Candidate Andrew DUFFY-LAWSON Elected with 1,427 votes, being in excess of the quota of 1,041

This report contains the transfers results.

Stage 2 - Surplus of Gerry BRENNAN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Oyebola AJALA	5	0.36755	1.83775
Transfer to Shahid FAROOQ	71	0.36755	26.09605
Transfer to Ayeshah KHAN	75	0.36755	27.56625
Transfer to Anne THOMAS	1,366	0.36755	502.07330
No further preference	129	0.36755	47.41395
Not transferred due to rounding			0.01270
	Total		605.00000

This report contains the transfers results.

Stage 3 - Surplus of Andrew DUFFY-LAWSON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Oyebola AJALA	91	0.27049	24.61459
Transfer to Shahid FAROOQ	23	0.27049	6.22127
Transfer to Ayeshah KHAN	1,106	0.27049	299.16194
No further preference	207	0.27049	55.99143
Not transferred due to rounding			0.01077
	Total		386.00000

This report contains the transfers results.

Stage 4 - Surplus of Anne THOMAS

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Oyebola AJALA	21	0.18803	3.94863
Transfer to Shahid FAROOQ	165	0.18803	31.02495
Transfer to Ayeshah KHAN	251	0.18803	47.19553
Transfer to Oyebola AJALA	25	0.06911	1.72775
Transfer to Shahid FAROOQ	312	0.06911	21.56232
Transfer to Ayeshah KHAN	372	0.06911	25.70892
No further preference	343	0.18803	64.49429
No further preference	657	0.06911	45.40527
Not transferred due to rounding			0.00564
	Total		241.07330

This report contains the transfers results.

Stage 5 - Exclusion of Shahid FAROOQ

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Oyebola AJALA	29	1.00000	29.00000
Transfer to Ayeshah KHAN	95	1.00000	95.00000
Transfer to Oyebola AJALA	4	0.36755	1.47020
Transfer to Ayeshah KHAN	27	0.36755	9.92385
Transfer to Oyebola AJALA	4	0.27049	1.08196
Transfer to Ayeshah KHAN	14	0.27049	3.78686
Transfer to Oyebola AJALA	8	0.18803	1.50424
Transfer to Ayeshah KHAN	86	0.18803	16.17058
Transfer to Oyebola AJALA	8	0.06911	0.55288
Transfer to Ayeshah KHAN	145	0.06911	10.02095
No further preference	138	1.00000	138.00000
No further preference	40	0.36755	14.70200
No further preference	5	0.27049	1.35245
No further preference	71	0.18803	13.35013
No further preference	159	0.06911	10.98849
Not transferred due to rounding			0.00000
	Total		346.90459